



اسم: _____

التاريخ: _____ النتيجة _____

$$\left(\frac{1}{3}\right)^0 + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right) - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right) + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{3}{4} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right) + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} =$$



اسم: _____

التاريخ: _____ النتيجة _____

$$\left(\frac{1}{3}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{643}{1080}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \frac{3}{4} = \frac{343}{500}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{71}{100}\right)$$

$$\left(-\frac{3}{5}\right) - \frac{1}{3} = \left(-\frac{14}{15}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{41}{100}$$

$$\left(\frac{1}{5}\right)^2 - \frac{3}{4} = \left(-\frac{71}{100}\right)$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} = \left(-\frac{101}{375}\right)$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{6}\right) + \frac{1}{2} = \frac{1}{3}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{2}{5}\right) = \frac{7}{320}$$

$$\left(\frac{1}{2}\right)^3 + \frac{3}{4} = \frac{7}{8}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) = \frac{25}{54}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{6} = \frac{19}{48}$$

$$\left(\frac{1}{5}\right) + \frac{3}{4} = \frac{19}{20}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} = 0$$

$$\left(-\frac{1}{6}\right)^3 - \frac{3}{4} = \left(-\frac{163}{216}\right)$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} = \left(-\frac{3}{80}\right)$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{141}{250}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{5} = \frac{1}{20}$$